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Topic:- Physics

1)
V-l characteristicof a copperwire of length ‘I and area of cross section 'A’ is as shown in the figure. The slope
of the curve becomes . oErs " ud HATE &I AR A" dlel U did

FT TR &1 V- oI &, o & T & Gwrr = # g% fT yaeran |

v

1. more if the experiment is performed at a higher temperature / 31feep gl STt %, gfe gt Uh 3=
I TR o e &

2. more if a wire of steel of same dimension is used / 3fYH Eﬁ STt %, tﬂ% HHTE TATH ?ﬂﬁs?cﬂﬂ Gal
IR Tgad foar ST 3

3. more if the length of the wire is increased / IE a STt %, gfe arR &t ?‘T@Té del MRS %
4. more if the length of the wire is decreased / 3HfeH _epf STt %, ZI% IR &1 ?‘Wl_sc YcT ?ﬁ STt %

Correct Answer :-

» more if the length of the wire is decreased / 3fep E»Pf STl %, fe aR &1 aars“'aa FESIG] %

2) A current of 4.5 A flows through a wire in 10 min. How much charge flows through the wire? /

4.5 A B! YR TP dR & AT A 10 e A yarfed gt 81 R & fopaq smaw varfed gd 82
1. 1500 C
2.2000 C
3.2500 C

4. 2700 C

Correct Answer :-

e 2700 C

3) Albert Einstein explained which phenomenon using corpuscular theory? / 3ed G'IT'&'@T'T e

HivreT RIGid BT SUART B i At ufgeT 1 e 12



1. Theory of relativity / 3Mufgrerdr Rigid
2. Diffraction / fdad
3. Scattering / PEALE]

4. Photoelectric effect / UHTRI-fdgad UHTd

Correct Answer :-

« Photoelectric effect / UBTRI-fagdd UHTd

4) What is the dimensional formula of angular speed? / PV °Te BT STATHT JA R %?
1. L7l

2.LT2

3. 71

4.T°

571

6. T°

Correct Answer :-

e T1

o« T1

5) Find the momentum of a body of mass 200 g having a kinetic energy of 10 J? / U foTg &1 o
Td B, ORI S| 200 ATH TUT AT SHett 10 [ &2

1. 2000 kgm/s
2. 20 kgm/s
3. 2kgm/s

4. 0.2 kgm/s

Correct Answer :-

6) Which of the following is a scalar quantity? / a9 erfexr (’\%WR') AR F 2
1. Pressure / GI§
2. Impulse / 3T

3. Velocity / aT



4. Current density / YIRT Ydcd

Correct Answer :-

e Pressure / GId

7) What is the SI unit of velocity gradient? / Q-UTUIdT &1 TH3ATS FHTS T 82
1.m/s/ Iﬁ@

2.51/31
3. m/s2 / /A2
4. s/m / /A

Correct Answer :-

o 51 / -1

8) The number of turns of the primary and secondary of an ideal transformer is 400 and 2000,
respectively. If the current passing through the primary is 200A and the power input of the primary is 20

kW, then the output voltage is /ngw‘fﬁ'{aa m%ﬁ%%gﬂﬁrﬁ
AT HHR: 400 31X 2000 31 TFS WTUFIF A OR TE UIRT 2004 3R WAFI® &1 Al (W)

$YC 20 kw &, A 313y dreedr 3|
1. 500 V
2. 1000
3. 2400

4. 1600V

Correct Answer :-

e 500V

9) Which of the following is NOT a conservative force? / ﬁ'ﬂ' =k | CAE| 1 '\‘R&ﬁ CL qﬁ %?
1. Gravitational force / ‘I\‘Wﬁq EN
2. Spring force / UK

3. Frictional force / T8 &
4. Electrostatic force / fRR dgud §@

Correct Answer :-

« Frictional force / T8 g



10) The number of electric lines of force emerging from a closed surface in vacuum is 1.13 x 101,

The charge enclosed is /Wﬁﬂhﬁﬁﬁﬁﬁ@ﬁﬁﬁ@ﬂ@ﬁﬁ
BT, 1.13 x 1011 1 aRag maw gl

, (110)c

2. 1uC

3. 10C

4, 1C

Correct Answer :-

11) Eddy currents are used in , / VaR-RT # U giedt B
1. transformers / gﬂﬁﬁ?

2. dc motor / ST AlEX

3. speedometer / WreHiex

4. power transmission / fa gdd) RIESKIERY

Correct Answer :-

o speedometer / WreHiex

12) The ratio of intensities of two sound waves is 16:25. What will be the ratio of their amplitudes? /

3 @afs av ot draarsit &1 SguTd 16:25 81 3P SRATHT HT U FT T2
1. 4:5

2.5:4

3. 256:625

4. 625:256

Correct Answer :-

13) The substance which is added to LPG cylinders while filling so that any escaping gas can

easily be detected is . /EI?UET'J, a‘rqwﬂvﬂhﬁsﬁaﬁ Nﬁ%aﬂ?ﬁﬁw
wiTaT @ o 3 Y fdea A9 &1 St | uar @ o 99, gl
1. benzene / S7oiI

2. ethyl alcohol / e Tehlgd



3. sodium acetate / TIfeTq THIce
4. ethyl mercaptan / U U RSP

Correct Answer :-

« ethyl mercaptan /U U IRp e

14) Four identical cells having internal resistance of 1.2 Q each are connected in parallel to an
external resistance of 6 (). The emf of each cell to drive a current of 3 A in a circuit should

be ./ U 1.2 Q TS SATdR® UfaRiY & AR THH 9d, TH 6 Q & 978 U1y A Jafsd
g1 TP URUY # 3 A F yRT F) uR=ferd PR F RN ITAF AT FTSTHEE g1 =ifeul

1.18V
2.185V
3.189V

4.20.1V

Correct Answer :-

15) Which of the following statement(s) is’are CORRECT with respect to dispersion phenomenon?
1) Refractive index for violet light is maximum.
2) Deviation produced in red light is minimum.

3) Wavelength of green light is greater than that of blue light. /

waToi ufvaer & ey § e & & o4 918 39 99 8782
1) STt BT BT Sruad-ie Sifidwaw giat 31

2) T wpTRI g1 fAifa faae ey gar 21

3) B UBTRT BT AXTIGH, ~Id WehT=T &1 a1 | SffUe giar 81
1. Statements 1 and 2 only / dd HYF 1 TG 2

2. Statements 1 and 3 only / @ &Y 1 TJ 3

3. Statements 2 and 3 only / $ad HYT 2 T 3

4. All the above statements / SURIG GH HYT

Correct Answer :-

« All the above statements / SURIGd GHt HYT

16) What will be the angle of refraction when a ray of light passes from glass to air? / 3Uad= PHIuT

T BT, W19 YhT Bt Fohor pia | arg § ATedt 32



1. Greater than angle of incidence / 3TUd ALK EE]l

2. Smaller than angle of incidence / JHTUd HI0T Y BT
3. Equal to angle of incidence / 3TUd CANEZCNER

4. Equal to 90° / 90° & SRT&R

Correct Answer :-

» Greater than angle of incidence / 3TUd ALK dsl

17) When both inputs of a NAND gate are the same, it is equivalent to ./ SId U YT YXPH'

§R (NAND 7o) 9t al AR wu @idi 8, @ as___ $ gead= gielt ol
1. NOT gate / “NOT” 7€

2. OR gate / “OR” i

3. AND gate / “AND” 7€

4. NOR gate / “NOR” 7[¢

Correct Answer :-
« NOT gate / “NOT” 7I¢

18) Calculate the wavelength of sound wave whose frequency is 550 Hz and speed is 440 m/s in a given

mediﬁn/%/%wﬁaiﬂaﬁm'ﬂ%%ﬁﬁmﬁ,mﬁqwmmﬁeﬂgﬁrssosiﬁaﬁ'\fﬂﬁr
440 |

1.0.125m/0.125 |t
2.1.25m/1.25H
3.125m/ 12.5 H

4.125m/ 125 |t

Correct Answer :-

e 1.25m/1.25Ht

19) When the amount of work is done to bring an object closer to the Earth, gravitational potential at a

point ./ 19 TP a%g B! G F e a1 & e ol foman wman 8, @) v faig
R oy faug |

1. is always a positive quantity / THRM TP YIS HHT Il g

2. is always a negative quantity/Bfl'-‘TlTW FUMe® HEAT BIdll %’

3. can be positive or negative based on the height from the earth / q?a"r T SR P YR W YTHD
34aT BUNHD & Hbdl §




4. is always zero / GHRT Q]Eqa?ﬂ &

Correct Answer :-

« is always a negative quantity/%ﬁ?ﬂ@ FHUTHS HTAT 81d1 §

20) A boxer moves his head backwards when the opponent gives a punch to his head so as

to ./ TP GabaTel 30 R &1 i F1 3R & 91T 8, 99 ufagdt s9e RR R
U Yab1 IRl ¢, alfPp |

1. increase the momentum and decrease the force / Ha & f{@ Td 9 § S gl

2. increase the contact time which decrease the force / U gag o qf& fﬁ oo 7 § St Eﬁ
3. decrease the contact time which increase the force / F0® THg H &HI g1 for g aa A Q'@ gl
4. increase the impulse / &I'IaT[ff q@s‘f

Correct Answer :-

« increase the contact time which decrease the force / I U 99 & q@ E?f o 7 5wt E?f

21) For constructive interference to take place between two monochromatic light waves of

wavelength lambda, the path difference should be -/ avﬁ%ﬁ?r@r% ﬁﬁw

UHTR a3 & di Fafor g gwaau & forg, uy aiaR T Tfeu|
A
1 4
[:n—l}i
5 2
nA
3.
'Err—l'Ji"
‘ )5
4,

Correct Answer :-
nA

22) Boltzman’s constant kg is given by the relation : / TSﬁmTI'FT fradaie kp 59 JdY IR fear
ST 3:

R- is universal gas constant / R- Wﬁlﬁﬁﬁ? ﬁ?’[ IBLGIED %
N-Avogadro number / N- SRS T

1. R/N



2. N/R

3.RxN

4. N?R

Correct Answer :-

* R/N

23) The number of electrons in 1 C charge is ./1C 3Maw# sﬁaﬁ'—ﬁ CARECs | @?ﬁ
I

1. 6.25x10%°
2. 6.25x10'8
3. 2.65x10%

4. 5.05x10%

Correct Answer :-

. 6.25x10!8

24) Which one of the given arrangements is CORRECT about friction? / g IR | Eﬁ 113‘ BE]

FawiTsHt # | B9 dt ve |- 82

1. Rolling friction < sliding friction < static friction / e gy < U Tefur < Wde gy
2. Static friction < sliding friction < rolling friction / Rfae gvfor < guf gefor < dea- gy
3. Sliding friction > static friction < rolling friction / Tt efor > Rfges aefor < dea Ty
4. Rolling friction > static friction < sliding friction / oo gyur > Rifde Tyor < guf gyor

Correct Answer :-

» Rolling friction < sliding friction < static friction / S gyur < Juf gefur < Rifge Ty

25) A galaxy that is moving away from Earth will show . / TSR T T{%Tﬁ I [+3
wvete,_ feEmd

1. a red shift in its spectra / 30 @H@ﬁﬂ]ﬂﬂﬁ

2. aflicker in its brightness / U deifeaar | feraferrge

3. a change in its shape and size / 3[04 Gﬂ?ﬁf 3R MHR T gfkacH
4. a blue shift in its spectra / 30 @E@’[ T el Hﬁl

Correct Answer :-

- ared shift in its spectra / 30 @agrfram{rﬁl



26) Ramu placed a piece of iron on the surface of water. It sank in the water
because ./ T A Ig BT TH gHe] Ul Bl Jdg W I&T| I8 U+t § g 747,
e |

1. the density of iron is more than the density of water / ?ﬁ% CaRIGICR A & O I 3 Eﬂ?ﬂ %

2. the density of iron is less than the density of water / ?ﬁ%’ D[ Ydd, ol & I7cd 9 HH @Tﬂ %

3. the buoyant force exerted by fluid is more than weight of iron piece / %d gIRT ST 7T 3ITdH dd],

e & ThS b goH I e BT &

4. weight of the displaced water will be more than the weight of the piece of iron / fa=ufud et &1 YRR,

AR b The P HR I 3 7

Correct Answer :-

 the density of iron is more than the density of water / ?ﬁ% HT Y, ENEREEEREIRED m %

27) The absolute temperature of a gas is made 4 times its original value . Then the speed of sound in
it becomes ./ TP T BT FARUE aTUHT, IUP aRafa® q19 61 IR AT B o
SITdT g1 <t S9H eaf 31 9rd B SR |

1. doubled / &I 7T

2. four times /WT‘F{
3. three times /?‘ﬂ:f‘l:ﬁ

4, remains the same / JHIT

Correct Answer :-

« doubled / I T

28) Which of the given statement is INCORRECT for the series LCR circuit at resonance? /

3FATE W 4 LCR URuy F forg, = faw 1 &=t & &9 91 s 82
N Impedance is minimum / FIGEICI TqAdH HGIR

2. Circuit is purely resistive / gfkay ﬁ’-‘ﬂ?&r Y gfaRiee gidl %I
3. Inductive and capacitive reactance are equal / RO gfcrerd auT emar-gfaerd sRIsR gid %'I

Resonant frequency fr = 22+ LC / He-Tq 3T|ﬁfﬁ’fr= 2ayLC
4,
. Circuit is purely resistive / qiyqer ﬁﬂjﬁ.’ T T gTare §idr b

6 Inductive and capacitive reactance are equal / WR{vTe 9idard dur enia-aidad R 61T &l

Correct Answer :-



Resonant frequency fr = 27+ LC / He=lg 3T|ﬁfﬁ'fr= 2aLC

29) The radii of curvature of a double convex lens are 20 cm and 40 cm, respectively, and its focal
length = 20 cm. The refractive index of the material of the lens is ./ P §1ﬁ A A i

el 3 ST HU: 20 A 3R 40 AT 2 AU THST BB 20 A B1 9 B Ga1d 1
Iyqdid gl

1.3/5
2.5/3
3.4/3

4. 5/4

Correct Answer :-
e 5/3

30) A 5 kg mass is pulled by two perpendicular forces 3 N and 4 N. The magnitude of its

accelerationis__ mﬁmﬁa’rﬁaaﬁ,maﬁ?mm@mm%lm
ek ke oo e S aTrrl

1. 7 N/s?

2. 1 m/s?

3.0N.s

4. 5 m/s?

Correct Answer :-

31) The color that deviates the least when passing through a prism is N T‘T, cl fireq g

o g¢ 999 $H faafaa glar 8, 98 |
1. violet / ST

2. yellow / Bkl
3. indigo / ST

4, red / dldd

Correct Answer :-

e red/dld



32) A transformer is connected to a 240 V ac main and it is given a supply of 6 V to ring a door bell.
The number of turns in primary coil is 4800. How many turns does the secondary coil have? / Y

TFABIHR BT 240 V TH A9 A ST 7T 3R I TP Searal t gvd} gom4 & 1w 6 v o1 amyfed
3t 5 | wrufire paelt # guTAl B TBWAT 4800 71 fEiiu® Hsoit # fra gura gid 32

1. 110 turns / 110 YHIG
2. 120 turns / 120 YHId
3. 130 turns / 130 YHId

4. 140 turns / 140 YHId

Correct Answer :-

e 120 turns / 120 YHId

33) Area under velocity—time graph of an object moving in a straight line represents

/ et ¥ § 99 I8} TP g & AN-JHG & Seiia BT &Amd gt 31

1. distance covered by the body / e & gRIag &t Tl—st @
2. displacement covered by the body / T & gR1 a9 fohar T foimaH
3. average velocity during a time interval / JHY 3{dRTd P SR 3T I

4. acceleration of the body / fATa &1 @Rl

Correct Answer :-

« displacement covered by the body / HTd & gRT T4 fowam a1 fa=ima=

34)
The flux linked with a coil at anv nstant‘t” is given by @ = 58-20t+20 _ The mduced emf att =3s is )

faell &fo1 " U Ueh &sell W ST 9AE, 0=50-201+20 & @RI fGAr ST §1 t= 3 b5 W
3cUNT SUATE (Tdeddies def) &l

1. -10V

2. 10V

3.5V

4. -5V

Correct Answer :-

e -10V

35) calculate the force required to produce an acceleration of 2 m/sZin an object of mass 5 kg. / 5 e

qrell TP ag | 2 H/A2 BT @RUT I FIA & (¢ Taxgd g B TUHET B

1.3N



2.5N
3.7N

4. 10N

Correct Answer :-

« 10N

36) A photon of highest frequency is emitted in which one of the following transitions? / fada

fra Jpuor § A Mgl T TS WieH, SId gidl 82
l.n=1ton=2/n=1"9n=2
2.n=2ton=1/n=2"n=1
3.n=2ton=6/n=2"n=6

4.n=6t0n=2/n=6®n=2

Correct Answer :-
. n=2ton=1/n=2®n=1

37) A and B are two neutral bodies having same mass. When they are rubbed against each other, A
becomes positive and B becomes negative. Which of the following statement is CORRECT, after

rubbing? / € 3R §} T& € GouwT= aTdl f SN fe1a &1 919 3 U g & faudid TWrea §, o
Wﬁm%aﬁ?ﬁwﬁmélm%m,mﬁﬁﬁqmwm

1. Mass of A > Mass of B / T &1 GoGHM > &l BT GoUHH
2. Mass of B > Mass ofA/aTWW>QWW
3. Both A and B have the same mass/Qe‘ﬁTEﬁa:ﬁWWW%l

4. Both A and B have the same weight / T ARt Ea:h D gl JHTT %I

Correct Answer :-

e Mass of B > Mass ofA/TSﬁWWFT>QWW

38) A point source of light is kept in front of a convex mirror which has a radius of curvature 60
cm. The image is formed 15 cm behind the mirror. The object distance will be

W%ﬁg@aﬁwmm%ﬂmﬁwwmﬁmﬁwmﬁ%lm
40T & 15 It TS 711 ag B g Hulll

1. 15 ¢cm behind the mirror / E'CfUT & Uiy 15 9=t
2. 15 cm in front of the mirror / m% A 15 papal|
3. 30 cm in front of the mirror / E'{d'UT & WITI%T 30 @Tﬂ




4, 30 cm behind the mirror / ad'UT & Ui 30 IH

Correct Answer :-

e 30 cm in front of the mirror / aﬁ'UT & g 30 IHT

39) While drawing water from a well, the bucket of water appears to be heavier when it comes out of

water because /ﬁﬁﬁ@ﬁ%ﬁﬁ,ﬂﬁﬁ,ﬁﬁﬁﬁ%
9T HTY wedid gt B, Fife |

1. there is no upthrust due to water / Qﬁﬁaﬁg@f ﬁé:{@ﬂ :fgbf@?ﬂ %
2. the gravitational pull is more outside the water / WETT'T ]C@ia'l_d, =l & CIREEEIRED Eﬁ?ﬂ %

3. the buoyant force reverses its direction as it comes out of water / el & U I dlg} 3 W
I g ST =T gad odl §

4. of the relative density / 3TUfér® g7 & BRI

Correct Answer :-

 there is no upthrust due to water / UMl &1 aolg 9 ﬁ%m RG] %

40) Huygens’ principle of secondary wavelengths cannot be used to . ﬁ?ﬁ'cﬁ?

et & grsi=y fRrgid &1 SuURT %mqﬁ%mmm%.l
1. find velocity of light in a medium / U8 HTEAH H UHT o A7 BT Tl TR

2. find the new position of a wave front / U T I 7‘|€ fufq &1 gar =

3. explain laws of reflection / IR & FaH &1 SR A

4. explain Snell’s law / A & 98 BT ARAT HRA

Correct Answer :-

« find velocity of light in a medium / Udh HITH T BTN o 91 T Ul e

41) The acceleration-time graph for a body moving with uniform acceleration

is 5 ./ THR x0T  Nfa=ia v fema &1 @Ru-99g 3R gidl
|

1. a straight line parallel to the time axis / HHI & & JHIOR T Telt ¥am

2. a straight line parallel to the acceleration axis / <dXUI & & TR T et ¥@m
3. a straight line inclined to the time axis / JHY A& U %ﬁ T el @

4. a straight line inclined to the acceleration axis / cdXUT & U %ﬁ TH el @

Correct Answer :-

« a straight line parallel to the time axis / JHY A& & JAIR Ueh Iiedt ¥



42) A moving car is brought to rest within 10 s by applying brake. Find the initial velocity if the

retardation due to brake is 5 m/s2. /wmwﬁ%mﬁﬁﬁ 10 dbe & HiaR & wrdt
21 9f¢ 9% & ST HeA 5 HI/A? 3, a1 SRFUS a7 31d B

1.0.5m/s /0.5 HI/A
2.2m/s /2 HIA
3.-50 m/s / -50 Hi/&
4.50 m/s / 50 HIA

Correct Answer :-

e 50m/s/50 "

43) The gravitational force between two objects does not depend on . Eﬁ ﬂ\?ﬁ »d=

Raeined_ wnmRad e

1. sum of the masses / 3-Tdb GoIHTI b TN

2. product of the masses / 3-Tch GoIHI & UFHA

3. the medium between the objects /Wﬁ\ﬁ% o grey
4. distance between the masses / 310 S| &b §Id Bl @

Correct Answer :-

« sum of the masses / 3-Tp GSIHTI & TN

44) A source of power 2kW produces 1020 photons, the radiation obtainedis ./ Udh 2

forditaTe & aren A4, 102 Wiel-l T SdTed HRdl 8, dl W g arelt fafesor . &1
1. IR rays / 3{Aad [ Ul

2. UV rays / TRTSTH fopof

3. X-rays / Ua-fr0l

4. Micro waves / & a<dl

Correct Answer :-

o X-rays/ - fovul

45) The escape velocity of a body on the surface of a planet depends on ./ Sh UG
B Tds W TP P BT gara= o W R sar g1

1. the mass of the body / 9] & S
2. the angle of projection / T&gul & HIvT



3. the mass of the planet / Ug & SHTT

4. the shape of the body / Mo & AR

Correct Answer :-

« the mass of the planet / Ug &> SGTHTT

46) A semiconductor is connected in the left gap and a metal wire is connected in the right gap of a
metre bridge. The balance point is determined. Both are now heated so that change in resistance is

same, then the balance point will . | TP AGATAP, WW@E@TE&T%@
TP YTg Y, T Hiex foret & 319 3ieavTa | JeT g3 31 Wdad fag fruffya §1 e i &
e wirar 8, o uferYy & wum= ufvad= gar 8, 9t dqad g Hull

1. shift towards left / STS 3R fa=Tfid
2. shift towards right / arg 3R fawifud
3. depend on metal / YT UX AR

4. depend on temperature / dATYHIT UX Ak

Correct Answer :-

o shift towards left / Eﬂ_st 3R fawrfua

47) When a body is in accelerated motion, the distance—time graph is a ./ old Th

e afva wfa & gar 8, ot gi-awa 1w e Hoikd
1. straight line inclined to time axis / JHY H& W%ﬁ@?ﬁ?ﬂw

2. straight line parallel to time axis / JHY &l & JHIR Th Treft war
3. curved line / I T

4. straight line parallel to the distance axis / EL'(\Pf 318 & AR Tdh tef Yar

Correct Answer :-

« curved line / I%h X7

48) What happens if there is a short circuit? / T _@T'IT % Sd Uh dY gy (Qﬁ%—’\‘l% _bﬁ_vﬂ %?
1. The current in the circuit reduces drastically. / gfdhe H 4R HTH! HH HESIGI %I

2. There will be no change in the current. / YIRT i ﬁ_sc trf“\fa?h:ré’réﬁml

3. There will be continuous variation of current. / YIRT ff ﬁw tn)\’a?hml

4. There is large increase in current. / YIRT s AT | a?‘.f\?l?ﬁ %I

Correct Answer :-

o There is large increase in current. / YIRT 3 A o aT‘EGﬂT‘ﬁ %I



49) What will be the magnetic field at the centre of a circular coil of ‘n’ turns and radius ‘r’
carrying a current ‘I’? / “n” FHTAI 9T “r> 4T ATel TP qATHR P, S “I” YRT BT a8
B 8, 5P Py | AP &F T SN2

1 pnl4r

L3
5 ponl3r

L2
3. ponl2r

4 p.nlr

Correct Answer :-

50) A boy receives his echo 5 seconds later. Find the distance of the reflecting surface from the boy. The
speed of sound in air = 342m/s. / TP ASHT U ATATS D! S 5 b qTG U Hdl ¢l TSP A
WRTafdd Fag Pt gl BT yaT eI g1 A <afyr Bt ufy = 342 HiAbs B

1.1710 m/ 1710 |t
2.855m /855 HI
3.67m/ 67 Hl

4.285m/28.5Hl

Correct Answer :-
« 855m /855 Hl

Topic:- Chemistry

1) Which one of the following alkali metals reacts directly with nitrogen present in air to form

M,;N? / Frafafaa & @ #9 Id ve emdfia arg, MyN & fAator & fore gar & SufRia Argeq &
Ty Y srfuferar &t 22

1. Sodium / HITETH

2. Lithium / <HfIIH

3. Potassium / QY fREH
4. Caesium / Hiforqd

Correct Answer :-

« Lithium / MYgH



2) Which one of the following polymers is prepared from caprolactam? / fadaa=
T U 950, duldaed A duR fHar srar 82

1. Nylon 6,6 / ATSA 6, 6
2. Nylon 6/ SIS 6

3. Nylon 6,10 / TZdiA 6, 10
4. Nylon 6,11 / TSI 6,11
Correct Answer :-

e Nylon6/ 4 3("1V:| 6

3) Identify the substance that is used as an insulator in electrical wires. / 39 'an'ifaﬁ' 'qgilﬁ, K|

faereht & ar) # Rigad e » = d wgad grar 2l
1. Lead / T

2. Iron / 18

3. pvC / UidTHt

4. Bakelite / S alIge

Correct Answer :-

. pvC/Uidd

4) Solvent exchange method is used for the separation of ./ faarge fafra fafy &1
T & JuIHIr & fore fopar simar 31

1. sulphur from alcohol / '\Jc'd‘)\IE;ﬂ q T

2. sulphur dioxide from hydrogen chloride / BT3SIoM HIRISS U HehR SISHI RIS
3. sodium chloride from ammonium chloride / 3ATH H@TIEB' T gifsgn a%hms'
4. potassium nitrate from sodium chloride / Tifsay FeRIES ¥ Ul HI%EE

Correct Answer :-

 sulphur from alcohol / q«cr?lsm @ el

5) Which one of the following methods is suitable for the removal of C[}Iz and Sr:=2 present in

natural gas? / WIHfa® 17 # UG CO, 3R SO, ) geM & for, 9 A | w1 wft faf¥r Sugea
ghft?

1. Liquefaction / gIdUl
2. Adsorption / BN



3. Absorption in alkaline solution / &RIT faer T S{a=nyur
4. Absorption in acidic solution / 3N [qe- H SEARNHUT

Correct Answer :-

» Absorption in alkaline solution / &R faea o s

6) A farmer treats his soil with quicklime for better yield. This is because the nature of the soil is too

./ T ForaT dgar Ius & ford sra=it a1 o f=r g A framar 31 as 39 foman
SITaT @ AP a1 B upfa 95a gl

1. acidic / 3=
2. basic / &R

3. sandy/a'lﬁ's:
4. Ioamy/@zl_cpf

Correct Answer :-

« acidic / 3T

7) The electron distribution of a silicon atom is . 1 T fafeera UIHTY[ T sﬁaa"ﬁr
faaon gl

1.2,8, 4
2.2,8,3
3.2,5,8

4.2,3,8

Correct Answer :-
e 2.8 4

8) What would be the number of moles of H,O, required to bring about decolourisation of 0.5 moles

of acidified potassium permanganate? / Gl'l?ﬁﬁ TIeRH WA & 0.5 'ﬂmérujﬁ'ﬁ Ca)
fasftevor v & fag smawa® H,0, & TTHINULSHT BT =T AT 12

1. 5/2 moles / 5 /2 UTHS3AY]
2.2.5/2 moles /2.5 /2 UTH3{]
3. 1/2 moles / 1/2 UTHHT]

4.3 /2 moles / 3 /2 UTH3{T]

Correct Answer :-

e 2.5/2moles /2.5 /2 UTHAT]



9) At the limiting value of radius ratio r+/r- is: / AT U r+/r- & HHid U WR:

1. Forces of attraction are larger than the forces of repulsion between the ions / Al & aﬁa, Ncajuicy

ERIGER LB N SRR

2. Forces of attraction are smaller than the forces of repulsion between the ions / 3T & §ig, {THYT
& T UfdH Y0 & 9 B T H B S & |

3. Forces of attraction and repulsion are equal between the ions / 3T} & S STH YT 3R Ufdrur &
JARIR B G|

4. Forces of attraction and repulsion between the ions are unaffected. / AT & T MHYT 3R
iU & o ST B B

Correct Answer :-

» Forces of attraction and repulsion are equal between the ions / 3T & ol 3Mp YT 3R Ufdeyur &
ERENEIGRR

10) Two substances A and B are combined together to form a product P. A and B cannot be broken
down into simpler substances. Identify the INCORRECT statement. / E(Pf tE.'TQ-f A T4 B 39 s i
T B ITG P BT FAAT01 Hd €1 A Td B Bl O Uardt & qisT =18t oI gobar 21 e
FYT Pt UgATH B

1.Pisa compound/P@W%l
2. A and B are elements / A Qa B dd %I
3. P has fixed composition / P &1 Fue (Aad gl

4. A and B are compounds / A Ud B W%I

Correct Answer :-

e A and B are compounds / A Qa B W%I

11) Which one of the following mixtures can be separated by using alcohol as solvent? / ﬁfHﬁ I

P T T Fhyur faarae & U § Tedhleld & SUGNHT HIP YYaPHd fHar o1 GobdT 82
1. Salt and sand / <IdU[ \’ﬁTIET
2. Sugar and salt / THRT 3R 0T

3. Sulphur and sand / et 3R Hal

4. Salt and sulphur / 0T 3R TehR

Correct Answer :-

» Sugar and salt / QBT 3R TG0



In a carboxylic acid with 3 carbon atoms and 6 hydrogen atoms, identify its correct formula from the

options below. / 3 BTET URHTU[SAT TF 6 T3S IO WHTU[SAT aTdt Sttt 3 H, i fawpeal
H 9 ST Tel YA UgAI- |

1. CH3COOCH,
2. CH3COOH
3. CH3CH,COOH

4. CHsCHO

Correct Answer :-

« CH3CH,COOH

13) The oxide ore among the following is Fafafaad g Gﬁﬂ'\‘lﬁ%’ . prsd
___ @

1. Zinc blende /W @_5'
2. Cinnabar / RIFER

3. Bauxite /EIVWI%E'
4, Horn silver/gl:fﬁlw

Correct Answer :-

e Bauxite / EIVWIEE'

14) Which one of the following acids can decolourise purple coloured potassium permanganate? / ﬁl’H

A A P4 A1 U@ o, T T F U wHTE o R # wear 82
1. Carbonic acid / TSI 3T

2. Sulphuric acid /W S

3. Hydrochloric acid / E@Wﬁﬂg S|

4, Citric acid / w 3T

Correct Answer :-

e Citricacid / w ST

15) 3.0 J of energy is produced by a certain light radiation containing 6 x 10'8 photons. What is the

wavelength of this light radiation? / Y fAif3ra gy fafevor & GIRT 3.0 [T St Wﬁﬁ ﬁ?ﬁ %
oraH 6 x 1018 Wi fAfgd gd €1 39 v faferur &t avwesd w82

1.397.6 A°



2.3614 A°
3.3976 A°

4.39.76 A"

Correct Answer :-

e 3976 A°

16) In the Thomson's model of atom, which of the following statements are INCORRECT? /

YTH & AT Aisd A, Fafafea & § $19-919 @ o= Tad 82

(i) Electrons are embedded in the positively charged sphere. / FSTAfr Me o '{ﬁ'ﬂﬂ%‘[,
3T B &

(ii) Atom is electrically neutral. / UTHTUJ a@a-ﬁlﬁq a_dT %I

(iii) Positive and negative charges are equal in magnitude. / gfeaTor & ¢ Td BT STA%T 9T gid
gl

(iv) Stability of the atom is due to the attraction between electrons. / UXHTU[ BT WT&IE, sﬁaﬁh‘r
& &g THYUr & HRT g1 B

1. (i) and (iii) / (i) T4 (i)

2. (ii) only / Had (ii)

3. (i), (ii) and (iii) / (i), (ii) T4 (iii)
4. (iv) only / B4 (iv)

Correct Answer :-

« (iv) only / dd (iv)

17) Designation of the pattern as ABABAB of successive vertical layers of identical atoms gives the
arrangement called as ./ HHTF WTQISﬁ DI HIUD SWIR Wl S ABABAB &
EUH U & AU | ure sgawa Fgardt gl

1. hexagonal close packing / W BICE W

2. cubic close packing / Y- BICE W
3. face centred cubic / THA®-Pbiad O

4. body centred cubic / BTAD TG °

Correct Answer :-

» hexagonal close packing / W'Uﬂ'q fAfas p e



‘C’ is a soluble acidic oxide and ‘D’ is a soluble base. ‘E’ is pure water and ‘F’is NaCl solution, which one
of them would be having the value of pH less than 7? / ‘C’ €& faea ety SIS % Td ‘D’ Th
e &R 1 ‘B’ IS 99 8 Td ‘P NaCl faera=1 81 379 9 {59 v &1 po 914 7, F $9 ghm?

1.C
2.D
3.E

4. F

Correct Answer :-
e« C

19) Which of the following is a combination reaction? / ﬁl’H K| m Sfuferar CaE| H %?

1 NHsMNO; hEg'.t MN: + 2H;O

5 FesO,+ 2NH,0H —» Fe(OH); + (NH,);S0,

3 2Na + 2H;0 —— 2MNa0H + H;

4 2K + Cl; ——» 2KCl

Correct Answer :-

2K + Cl; —» 2KCl

20) Which one of the following acids can be used in the preparation of ketones through

decarboxylation? BECEEEInE:| 3, fapraifRTa®ur & ATead A FIAF B gt A
SUGT fomaT T Thar 82

1. a keto acids / o PICT 3

2. B keto acids / B Plct 3

3. a hydoxy acids / a EE@JEI?F[ ST
4. B hydroxy acids / B E@Jﬁ 3T
Correct Answer :-

* B keto acids / Plcl 3

21) What type of reaction is represented below? / T fore ueR @t srfuferar m Tt %?
Mg + Cu50; —» Mg50, + Cu

1. Displacement reaction / fa=iTg= sffHfar



2. Combination reaction / dgad 3ffrfepar
3. Double displacement reaction / Tg faima= sif¥iforan

4. Decomposition reaction / {UYCH 3fffepar

Correct Answer :-

» Displacement reaction / fa=uroT siftyfean

22) Ethylene chloride and ethylidene chloride are isomeric compounds but the statement which is

NOT true for both the compounds is: / Qﬁﬁ'ﬂ’"[ HFﬁTIET:' 3R Qﬁlﬁ‘l@? a?ﬁ?ﬁ?; AT Qe
& Afp=1 a8 Hy=, St 31 ATl & fore w18 @

1. Both of them react with aqueous potash and give the same product. / 3 I STefig g & iy
3iffsrar FRd § SR THM ITE & B

2. Both of them give Beilstein’s test. / QY S Ter0T & g |

3. Both of them react with alcoholic potash and give the same product. / CE RIS RINED qiew & g1y
3ffraT a ¥ iR THH SaTe & B

4. Both of them are derivatives of ethane. / d GIFl| G & [P gl

Correct Answer :-

» Both of them react with aqueous potash and give the same product. / J gl o Qe & Iqry
3ififerar A B 3R 9HM ITE ¢ B

23) Calculate the number of copper atoms in a 8.5 cm long copper wire which has a mass of 6.4 g
(relative atomic mass of copper is 63.55). / 6.4 T SAHTA P gsAM Tl e B AR A AT F
TRUTULSHT B =T Ui pierd BT (did $t "rier WRHTUL-Hefd 63.553) |

1. 6.034x10%
2.0.6103x10%
3. 6.062x10%
4. 0.6304x10%

Correct Answer :-

24) Nettle plant causes painful stings due to methanoic acid secreted by them. Which one of the
following substances can be used to relieve the pain? / Acd Uiy W94 I wifad ﬁﬂm A &
PRI HTH S &l 2| &6 | I@d UH & i o veraf & A frw v &1 v v o aaan 82

1. Lime juice which is acidic / =ﬂ§W, S SR %
2. Leaf of a dock plant which gives a solution having pH 9 / Sl T B 1ZIT'ﬂ, S Uied 9 & faera ot %I



3. Salt solution with pH 7 / 4T 7 GTdT @aUT fa@a |
4, Water which is neutral / SId], S Balﬁlﬂ Eﬂ?ﬂ %I

Correct Answer :-

 Leaf of a dock plant which gives a solution having pH 9 / S WY &Y Uil Sl qied 9 T faerg= <t =

25) A fully charged battery contains 1 litre of 5.00 M H,S04. The concentration of H,SO4 in the
battery after 2 amperes of current is drawn from battery for 10 hours will be ./ TH ﬁ

TSl P13 A A 5.00 M H,S0, FT1 e 81 10 908 & o 9t | 2 vafiar oyt Apeq &
maﬂﬁ:ﬂst4mw g

1.0.816 M
2.46 M
3. 8.16M

4.0.46 M

Correct Answer :-
e 46 M

26) Reaction of diazonium salts with aromatic amines in mildly acidic solution to form colored

substances is an example of . /Fﬂ?ﬂﬁﬁﬁ%ﬁlﬁ?ﬁ?mﬁmﬁ
WrAfes THIT & 91y STSUSIf~aw dqun @1 fHfear, BT 38T ©

1. polymerization reaction / dgcich 3rfyfaran
2. oxidation reaction / 3{ieRITRUT 3ffHfar
3. addition reaction / S8 fHfehaT

4. condensation reaction / Fo=-T T

Correct Answer :-

« condensation reaction / 9= U ThAT

27) 90Th232 undergoes radioactive disintegration in a series of steps and loses a total of 4 particles

and 6 particles. What is the final isotope produced in the series? / 99Th*3, TN DY Udh goft &

earafry fageT & gre? ToRal 8 U ©d 4p BUN T4 6a BUN B BT 8F oirell 21 Joft &
faffa gon sifow guees S AT 82

1. 82Pb206

2. 4o Pb208



3. 82Pb209

4. g3Bi209

Correct Answer :-

. 82Pb208

28) A substance which is above its critical temperature . thaﬂfﬁﬁ 3 wifad
IR SR B, |

1. can be liquefied by increasing the pressure / Qld Gl deldhX ofad foear s g %
2. will exist as a solid / 31 & ¥ H TG GRN

3. will exist as a liquid / «d F¥YH Iﬁﬁ:&' EaTIT

4. will exist as a gas at any pressure / st i g R TP =0 H W m

Correct Answer :-

o will exist as a gas at any pressure / Pt e R F wu d I:ﬁGj:C{ Al

29) p-Electrons of the halogen are NOT involved in delocalization for which one of the following
compounds? / f5 T & A 5T ver & forg, gaeH & p-3Aaei= rUTHH0T & e 7
FId 32

1. Chlorobenzene / FARTS I

2. Vinyl chloride / 3913 adRTSS
3. Ethyl bromide / TfId SRS
4. Bromobenzene / RG]

Correct Answer :-

« Ethyl bromide / T SHZS

30) Detergents are more effective in hard water than soap because . | SHTSIH (%?ﬁ'),

TG Pt A& F R o | e guTIRTeR B & it |

1. ammonium ions in the detergent form precipitate with hard water / SHTSIS (%E@f'c') o s ma
FHAR o & 1Y A& T §

2. calcium ions in the hard water do not form precipitate with detergents | BER oA H SIeRIH T
C N ¢ : g
3UATSIP] (fEesie) & Y 3a&Y T8t 9-1d &

3. sulphonate ions in the detergent form precipitate with hard water / SHTSIh (%Eﬁf'c’) H Iehie 3,
HOR O P 1Y HFAY S &




4. magnesium ions in the hard water form precipitate with detergents / HoR oTd H TRmH 3T,
uHTSie (fEesfe) & TTY /A&y §-Td 8
Correct Answer :-

e calciumions in the hard water do not form precipitate with detergents | HOR A | PRI 3
C N ¢ : :
3ATSIP] (fEesie) & Y 3ady 8! 9-1d &

31) Which of the following is a very reactive non-metal stored under water? / fadaeasa

TG B S arelt e fufshaTite sremg &1 I 82
1. Sulphur / R

2. Sodium / HIFSTH

3. Phosphorus / IR

4. Mercury / URT

Correct Answer :-

« Phosphorus / PRI

32) Potato chips manufacturers fill the packets of chips with nitrogen gas. It is because nitrogen gas has:

%mﬁw%mﬁw%ﬂ%aﬁ?@mﬂvﬁmﬁﬁlﬁwwm?@mﬁv

1. no reactivity and does not favour rancidity / 3Uhifddd :@Tﬁ?ﬁ % GﬁTWﬁ ﬁ% Tiferd :@}I 3Tt
g

2. more reactive and favours rancidity / 3fereh \’rlﬁ-m%ﬁ?ﬁ % GﬁTETC{ﬁ ﬁ% Tiferar &t FITé?ﬁ
gl

3. moderate reactivity / H¥H @Wm@?ﬁ%l
4. favours rancidity/Wﬁﬁ% Tferd ﬁ?ﬂé?‘ﬁ%l

Correct Answer :-

« no reactivity and does not favour rancidity / 3UHifdddr :I?)[_Eﬁ?ﬁ % G?IT@TCU}[ ﬁﬁ Tiferd 7-@3[ 3Tt
g

33) Sulphur forms a polyatomic ring with eight atoms. Which property of the element facilitates this? /
B, TS WRATU[SH & HTY TP TEWRHTY[G 97 IITdT 8 | acd BT I T Ure 394 Fgraar
TR

1. Covalency /ﬂ%ﬂfﬁw

2. Combining capacity / TSl &

3. Catenation / 3G

4. Electronic configuration /3@5@7'% fo=arg



Correct Answer :-

« Catenation / 4T

34) Which one of the following gives CO, on heating? Fafafea A fFA ™M A w CO, Ut
a1 82

1. Milk of magnesia / fores it AR

2. Slaked lime / Il AT
3. Sodium carbonate / THSTH CAGIE

4. Limestone / ZATURR
Correct Answer :-

e Limestone / AU

35) In Freundlich adsorption isotherm, the value of 1/n is . /W@ﬁﬁ? 3rfernyor
JHATT H, 1/ n BT HH gaT gl

1. 1 in case of physical adsorption / Wfae AfIMyor S AHA H 1

2. 1in case of chemical adsorption /WTCI'% MY & AHA T 1

3. between O and 1in all cases/‘v’[ﬂ-ﬁw H 0 G‘ﬁT 1% a1

4. between 0 and 1 in case of chemical adsorption / ITAAE SfIRIY0T & ATHA H 0 GﬁT 1% &

Correct Answer :-

« between 0 and 1 in all cases / T4} ATHA H 0 AR 1F

36) Name the molecule which contains a double bond from the following? / fadasy S{U] BT ATH

garsd forad fg smeiy g g2
1. Nitrogen /:ﬂg_fﬁﬁﬁ

2. Ethyne / WYIg-
3. Propene / T

4. Cyclohexane /msa%ﬁ%a@rrr

Correct Answer :-

e Propene / T

37) Arrange the following gases in the increasing order of nhumber of molecules:

4 g of oxygen, 2 g of hydrogen, 4 g of nitrogen, and 2 g of chlorine



/ Fora it ot arugefl s & wgd wu I At Fn:
4 T JATRISH, 2 UT BESIoH, 4 TT ATGC oM, 3R 2 IT TR
;. Cla N2 Hy 0,

5. Cla 05 N; H,

3,02 Ny Hp €l

4,02 Cl Nz Hy

Correct Answer :-

cl, 0, N, H,

b b

38) The energy of molecular motion is termed as . / 3MTfoge TIfd 1 St &l
Pl ST 2l

1. chemical energy / IS Sl
2. potential energy / ffas Soif

3. friction / TNUI

4. kinetic energy / Tfast Solt

Correct Answer :-

* kinetic energy / 11 SISEC]

39) Which of the following alkenes, 1 mole of which is to be taken, on ozonolysis will give only 2

moles of an aldehyde with a molar mass of 44 g/mol? / ﬁ%‘rl%r%‘d ﬁ@'q'gﬁ'-rm?{aﬂ'rr% &
1m%mﬁmﬁmw«44mmm%mwmﬁq%€@%mzmm
Ured ?

1. 2-Pentene / 2-9CiA
2. 1-Butene / 1-@1?0':{

3. 2-Butene / 2-@@:{
4. Propene / Ui

Correct Answer :-

e 2-Butene / 2-@7{

40) The formation of cyanohydrin from a carbonyl compound is an example of WAL

Sraifre 9 & Graersie 1 frfo T IaTER 3|

1 fa Y

1. electrophilic addition / $@1dd~1<|*l| RIS

-~




2. nucleophile addition / ATTHHRT TASH
3. electrophilic substitution / SeId-RTIT UfdRATH
4. nucleophile substitution / ATTHHRAT TfawITa—

Correct Answer :-

« nucleophile addition / ATHAT T

41) One mole of a carbon isotope with a half life of 10 days decays to give one mole of helium. If 1.0
gm atom of the isotope is kept in a sealed tube, how much helium will accumulate in 20 days? / 10

o1 @t aref oy wfga 1= IHef=e & UP UTHS] & &g I giferay &1 e I frear
21 afe TURITFS BT 1.0 ITH URUTY HI FHfea a8 & 3@ 147, 4t 20 f=1 & fovan Sifem
wfra gt STeEm?

1. % gm atom / % YT UXHIT]
2. % gm atom / % T UIHIT]
3. % gm atom / % T YIHIY]
4. 1 gm atom / 1 YT UYIHIT]

Correct Answer :-

e % gm atom / % YT UHIT]

42) What is the mass of 1.5 mole of oxygen molecule? / RIS 3] & 1.59TH S{U] BT THTH
1 3?

1.16g/ 16 UH
2.24 g /2491
3.32¢/329M

4.48 g/ 48 UTH

Correct Answer :-

. 48g/48UH

43) Electromagnetic waves transport ./ ﬁgﬂﬂ-ﬂaﬂaﬂ GEal| BT URagd drdt
3l

1. charge / SIERY

2. energy / St

3. frequency / SRERAT

4. wavelength / aTeed



Correct Answer :-

e energy / Sl

44) What is the strength in gm/lit of 40 volume solution of perhydrol? / WTEE@?[ & 40 gfeHTOr
farera=r &t ar/RTteR | yaerar @ gRir?

1. 130.8gm / 130.8 7T
2. 60.71 gm/ 60.71 9T
3. 38.08 gm / 38.08 U

4. 121.4 gm/ 121.4 U1

Correct Answer :-

e 121.4gm/121.4U

45) Three elements X, Y and Z form Dobereiner’s triad. If the atomic masses of X and Z are 35 and 126,

respectively, what will be the predicted atomic mass of Y? / GG XY 3R z ﬁﬁm IECERIG
21 afe x 3R z B wuTU-HEfa U 35 3R 126 €, Y v F gaigfra wamv-Isfa «m ghfte

1. 100
2.80
3. 217

4. 90

Correct Answer :-

46) 0.915 g of a sample of chlorine oxide produced 0.355 g of chlorine on complete decomposition.
Calculate the mass of oxygen it would yield. / FERIT STFATSS & 0.915 T qﬂﬁ | H"]'\Uf SUUCA W
0.355 U1 FARI SeTfed g3ITI ITH ST TR BT GHAT U@ Sifog|

1.1.27g/ 1279
2.0.33g/033 %0
3.0.56 g/ 0.56 U

4.0.68g/0.68 U

Correct Answer :-

. 0.56g/0.56



The metal which is refined by Mond’s process is WA'IL| S Ai+s uferar & gIRT Aed &t
WTelt 8, gl

1. nickel /ﬁa?_d
2. titanium / Elgél?‘qu
3. copper / dlY

4, zinc / Il

Correct Answer :-

e nickel /ﬁ%

48) Gases may be described as any of the following except one. Identify the INCORRECT
description. / FFafIf@d # A e &1 Sisaw, fFd W Tu# 9 7 afvfa forar s gwar 2139
TTd quie $I UgaT- |

1. Highly compressible / 3ffd TUted
2. Readily diffusing / TR I THTRA

3. Fluids / %9 e
4. Immiscible / 3TN

Correct Answer :-

« Immiscible / 3ifHgoftg

49) Alcohols can be produced by the hydration of . /Qﬁ'ﬁﬁﬁ EACRUISE| g
Iarfed frd I 9ad B

1. alkynes /Qc_tﬂ%:ﬁ
2. acids / 3%l

3. aIkenes/Q?qﬂ:ﬁ
4, alkanes /Q@v_"ﬁ

Correct Answer :-

e alkenes /Q?mﬁ_*ﬁ

50) The temperature and pressure at Chennai are 35°C and 750 mm Hg, respectively, whereas at
Ooty these are 15°C and 700 mm Hg, respectively. What would be the ratio of densities of air at
Chennai (d;) and Ooty (d,)? / %]aé # qmg T4 gId U 35°C TF 750 mm Hg %', Safp S A A

UM 15°C TF 700 mm Hg § | ATAZ (d;) Td Il (d,) W FAT & °U-Ted PT (UTd FT g2

1.d; /dy=0.998



2. dl /d2 =1.00
3. dl /d2 = 205
4, dl /d2 =1.55

Correct Answer :-

e d;/dy=1.00

Topic:- Maths

1)

Find the values of 'a' and 'b' so that x* - 2x% -3x? +ax -b is divisible by (x2-2). / ‘@’ Ud ‘b’ &I A 59
U 9o &4 T x4 - 2% 3x? +ax -b, (x2-2) T faur=a g

l.a=3,b=4

2.a=4,b=-2

3.a=-1,b=2

4. a=-4,b=3

Correct Answer :-

e a=4,b=-2
2)
In the adjoming figure, PQ|ISR. f PO =x, Q0 =x +2, 08 =x- 1 and OR =x - 2, then the lengths of PR
and Q5. respectively are Herda A #H PQIISR g1 If¢c PO =x, QU=x+2 08=x-10d
OR=x-2 & df PR Td QS &I sdls HAI: Bl
57 — R
/ i
/
I|III : - \III
) .I'III I".

1. 80m,6cm/8@1ﬂ,6®1ﬂ
2. 7cm,4cm/7@'ﬁﬁ,4@1ﬂ
3. 6cm,9cm/6@'ﬁﬂ,9ﬁ
4, 8cm,5cm/8@'£ﬁ,5®'£ﬁ

Correct Answer :-

« 6cm, 9cm /6 TH, 9 JH



3) Ifthe firstterm of a Geometric Progression is 729 and 7® term 15 64, then 5. = ] Afe T
IUTical AET & WIH Ug 729 3 77 64 §, AT S = |

1. 2817

2. 2718

3. 2187

4. 2871

Correct Answer :-

o 2187

4) The diameter of a circular play ground is 70m. Find its circumference. / U®h qailhR Qqq &
A &1 AR 70 HieX 71 5TSHT gRfY F1d B

1. 110m / 110 Hiex
2. 440m / 440 TR
3.220m / 220 HleR

4,170 m/ 170 HIcR

Correct Answer :-

. 220m /220 Hiex

5) If nCyy =15, thenn=_____ ./ Tlﬁﬂ'ﬂ““‘ - 15%’?—?[ n=______ gl
1.5
2.6
3.7

4.4

Correct Answer :-

6)
The value of (1 — cosec?8 (1 +secf) (1 -secd) = /(1 —cosec?@K1 +sec B) (1 -secd) &I

Hl =
1.-1

2.1



3.2
4, -2
Correct Answer :-

e 1

7) IfAand B are two events such that P(AUB }=2= P(ANB )=§= B(B) =%= then the events A and B
are |/ 4f& A Ud B g 924N 39 YRR & Tk P(AUB)=Z=P(MB}=§= P(E}% Bl &
d9 geT¢ A Td B Bl

1. independent / Wda

2. dependent / WRdA

3. mutually exclusive / UITUR 3gqsif

4. independent and mutually exclusive / Td Td TRER 3gasi

Correct Answer :-

« independent / T

8) walue of "4 for which the 4 points with position vectors {+ 2j+ 3k :3f —j+ 2k:i+ 4 + kand 6
i — 4 + 2k are coplanar is AT T A 8, Foas o el |fcer

P+2j+3k:3—j4+2k i+ A+ k Ud6i—4f +2k T IR Feg? FAG B
1.2
2.1
3.0
4.3
Correct Answer :-

e 3

9) What is the mean of the first nine natural numbers? / YYH =t FI'IT&IH? ST BT AT HIT %?
1.5
2.8
3.7

4.4

Correct Answer :-



e 5

10)
The derivative of €* sin x with respect to €% is ./ e & Hgd H e5sin x &l ccHowl

I

1. sin X + cos x

2. e* (sinx + cos x)
3.sinXx

4, cos X

Correct Answer :-

e sin X + cos X

11) Perpendicular distance of the point P(a, b, ¢) from x-axis is ./ x-SH&l I ﬁ'g P(a,b,c)

) daad gt 3
1. VaZ+b?

2. VbZ+c?

3. VeZ+a?

JNT DT+

Correct Answer :-

Vb2 + 2

12) A marriage hall is 40 m long and 25 m wide. 80 m? is the area of the stage in it. How much area

is left out for the seating arrangement?/@ﬁaﬁﬁﬁmﬁaﬁm Td 25 'Fﬂ???ﬁ?ﬁ %’I s'aﬁ?ﬁ
TP T BT QAP 80 THIC 81 981 $ AT & fore ot fpa-m e Tar 82

1. 450m? / 450 GEEIER
2. 92m / 92 Hiex

3. 900m? / 900 TIHIER
4. 920 m? / 920 gIHIER

Correct Answer :-

« 920 m? /920 IHIER



13) 1£100C, =100C,, o 7= ./ afy 100C, =100C, ;3 & r= 3

1. 52
2.51
3.50

4. 49

Correct Answer :-

« 51

14) The ratio of the sum and the product of the zeros of the quadratic polynomial f(x) = 4x% - 20x +

9is____./TEreTa 9% f(x) = 4x2 - 20x + 9 P AT & YN TG UGS PT 3T gl
1.20:9
2.5:4
3.4:9

4,1:5

Correct Answer :-

e« 20:9

15)  Find the frequency of the median class from the following frequency distribution.

Class interval 0-20 20-40 40 - 60 60 - 80 80 - 100

Frequency 17 28 32 24 159

| AFAfafEd aRaRar [aaver ganT Afegsr @&l $I aTRaRar AT H1

AT T 0-20 20 - 40 40 - 60 60 - 80 80 - 100
ARERAT 17 28 32 24 19
1.28
2.24
3.17
4.32

Correct Answer :-

e 32



16) [+'tanx (1 +tan?x) dx=

Jtan’x +C

2. tan?x + tan x + C

2 2
—tan=x
3. 3

4, None of the above /E:I'Ef I aﬁ's‘ :@3[

tan’x +tan x +C

+C

5.

6. None of the above /E:Iﬁ I ﬁs‘ qﬁ

Correct Answer :-

2

2 2
—tanzx
o« 3 +C
) — el — = — el —
17) solution of the equation ¥ 3cosx —sinx =1;¢ iRy Jcosx —sinx =1
PIEd gl

_ _1ynk
1lx-’ﬂﬂ.’+( 1) .

x=2nTt— =+=
. 6 3
x=2nmw+- ;—?
x=nm+-+=
4 &~ 3
Correct Answer :-
x=2nm— —+=
. 6 3

18) J-;—I sin 2x
0 4

sin*x+cos*x dx=

S

m
2

3. -
4. None of the above /_s’:lﬁ I aﬁé%"r

Correct Answer :-



19)

Ifr.i}-l-g-l-t:}:52“’hErEﬂ_,},EJEEIEﬂlrEE‘-‘ECtOISSlldlthELt |ff| =3, |E| =5 311d|3| = 7, then the
angle between G&bis i £+E+E=Et‘taﬁaﬁé’sﬁﬂﬂﬁarsﬁm€ﬁ:
1é| =3, |b|l =5.|2]| =7 & v dudb & & F=fer @M 0T &l

T
3

1.

T

o [ H

B

Correct Answer :-

WA

20) o m . m m o o
sec— tan — 4+ sin— cosec— + cos —cot—
6 3 4 4 6 3

5
2

W

Correct Answer :-

21) How many lines of symmetry can be drawn in an equilateral triangle? / Y JHdTg ﬁ"jﬁ |

fpa-it gufafa Y@ T o godl 82

1.4



2.2
3.3

4.1

Correct Answer :-

22) Points (2, -1), (3, 4) and (-2, 3) form the vertices of a/an ./ ﬁ'_g‘ﬁ 2,-1),3,49 Td

(2,3) TP & il &1 fmfor a=dt €
1. equilateral triangle / HHdlg ﬁHT)‘[
2. isosceles triangle /W@ ﬁ'ﬂﬁ

3. scalene triangle / faSHaTg Ay
4. right angled triangle / HD 0T ﬁ'ﬂ\_ﬂ

Correct Answer :-

« isosceles triangle /W@GT@' ﬁ'ﬂ\_ﬂ

23) Set of all points in the complex plane whose absolute value 4 represents a
. / 3 Aty guaa o [t fagen &1 99g, e fFRue o 4 8, T
o fFrefia srar gl

1. circle with centre (0,0) and radius 4 units / G (0,0) Td 4 WIE@[ CIMRESIKSIRS] gd
2. circle with centre (0,0) and radius 2 units / % (0,0) Td 2 IHTAT Telt BHoal Afgd ga

3. parabola with vertex (0,0) and focus (4,0) units / UL (0,0), wqd Johg (4,0) dTcdl URd 1Y

4. parabola with vertex (0,0) and focus (0,4) units / 2 (0,0), ud ddhg (0,4) dTedl Ud iy

Correct Answer :-

o circle with centre (0,0) and radius 4 units / g (0,0) Td 4 Sh1edl arel s afed gd

24)
The area bounded by the cur‘:ey=sinxbemfeenx=§mdx=2iis 8 x=§ﬂ?x=2j
& o g y= sin x & g FORT 837 &% (TR Bl

1.1 squnit/lfﬂ'fsﬁl_‘ic

2.2squnits/23ﬁ33’ﬂ3’ﬁ
3. 3squnits/3a1'f339—|§2ﬁ
4.4squnits/4a"'f33'>—|§qsf

Correct Answer ;-



e 2 squnits/Zﬁwsf

25) ~ k 5 - i 5
-2 3xc+— Ixc+—) -2
If coefficient of * in ( 55'-’:] is 1215, then k = ./ “Clﬁ( 51’) d X @
Uli® 12158, Ak = |
1. 14
2. 15
3.16
4,17

Correct Answer :-

« 15

26) f(eﬂlogx_i_ex!ﬂgﬂjdx e

1, = EatiE

? ax*l+a*log a+C

3, ax*+e*loga+C
a+i &

.
+
4, a+l loga

o B

Correct Answer :-

27) sin [tan_l[j—v"i) +cos™? (— :—i)]

=

B | =

|G

oo
”lr_u|

Correct Answer :-



28) If sum of 3 terms of an arithmetic progression is 102. The ratio of the greatest term to

11
the least term is ?, then the common difference is — ./ H%WWG@FUT *
?ﬂqua‘fmuhmz%lwuamamww%m?%,a}mam gl
1.7
2.10
3.8
4.9

Correct Answer :-

« 10

29)
If [ (3x2 + 2x + k) dx =0, then the value of kis . / A [[(3x2 +2x + k) dx=0 &, aT k &
ATl Bl
1.-2

2.2

3.1

4.0

Correct Answer :-

e -2

30) The largest positive integer that will divide 47 and 75 leaving remainders 5 and 3 respectively,
is ./ 98 UgWH YATP Ui 2, @) 47 79 75  YTT 31 W HHR: 5TH 3 AW
EEl

1.8
2.3
3.6

4.9

Correct Answer :-

e 6



31) The capacity of a hemispherical tank is 155.232 /. Find its curved surface area. /

SGNTATHR EHI B &HAT 155.232 e 3| BT I YSIT &A% JTd He |
1. 23502cm? / 23502 TH12

2. 25500cm? / 25500 THI2

3. 11088cm? / 11088 THI2

4. 16042cm? / 16042 THI2

Correct Answer :-

« 11088cm?/ 11088 THI2

32) Find the ratio in which the point (-1, 2) divides internally, the line segment Jommg the points (2,

S and (-5,-2)is______./dgJuE %ﬁﬂ%aﬁﬁaﬁﬁ;sﬁ(z 5)Tq (-5, -2) DI
ﬁﬁﬁaﬁrmaﬁﬁg(l 2) SRS ¥ & FAuTRIG St 21

1.1:2
2.4:1
3.3:4

4.2:5

Correct Answer :-

33) The greatest number of 4 digits which is divisible by each one of the numbers 18, 81 and 108

is_ /<R 3Pl arcl g ISR IS W1, O T3TaAy 18, 81 T 108 A A faursw 8
1. 9999
2. 9758
3.9720

4. 9940

Correct Answer :-

« 9720

34)
The discriminant ‘D" of the quadratic equation x2 — (/3 + 1)x 43 =0is _ | gfdard |@HeEer
-3+ Dx++3=0 & Afdadst ‘D, Bl



_
1.4-2V3

2.2V3

3.14V3

4 V3

Correct Answer :-

. 4-2ﬁ

35) IfP(m-'—n’Z} :55,thenm+n: ./qﬁp(m+”12} =55%,a'>rm+n=
@

1.7

2.8

3.4

4.6

Correct Answer :-

36) Seven times a two digit number is equal to four times the number obtained by reversing the
order of the digits, and the sum of the digits of the number is 6. Find the digit in ten's place of the

original number. / &I 3| aTdll TP T BT ATd AT, P HH DI b Hd B U U g
aTeR ST $T IR AT 21T 2, UG TBIT & 3] 1 T 6 81 Il WG & GaTs VI BT
3P [Td P

1.4

2.3

3.6

4.2

Correct Answer :-

e 2
37)

, ) k ; & ki L y—2 z—3 x—4 ¥—1 = 3
The point of intersection of the lines = = and = = —is T

2 3 4 5 2 1
x—1 y—2 =3 _ .x—4 ¥—1 b i
== — =-— =~ & ufdwded fdg BlaT|
2 3 4 3 2 ol

EEEEY



2 (_11011}
3 (_1.1 _11_1}

4 (1,-1,-1)

Correct Answer :-

. (_1.1 _11_1}
38)
The volume of parallelepiped with edges i, i+ .1 +j+ k is i i+fLi+f+k AR drer
UH HHICK SChHAs B AT Bl
4
1. i
2.1
3.2
4. None of the above /E:Iff@f Eb—-]%:lﬁ
Correct Answer :-
e 1
39) For any two vectors a md_b: we have I Thear cr Oiewr a Udb & for, gAN o9
Bl &
L l@+b1>1d1+1b1
, ld+bl=1d1+1b|
3 ld+b1<1al+1b]
4, None of the above /g:lffﬁ aﬂéqﬁ
Correct Answer :-
. 1@+b1<I1d1+1b
40) 1f n'® term of an arithmetic progression is 8-3n, then its common difference is ./ TPh
HHTAR ARG BT n' UG 8 - 3n &, A1 FHDT AU 3fcR gl
1.3

2.-3



3.2

4. -2

Correct Answer :-

41) 1-iv/3 1-i4/3
Argument of 1+iV3 js . | 1+iV3 ST PIUIH gl

w|H |

= | A

-2

Correct Answer :-

42) 1fin the expansion of (a +b)" and (a +b) nﬂ, the ratio of the coefficient of 2"d and 3"d
terms and 3 and 4th terms, respectively, are equal , then n = ./ afe

(a+b)" T (a+5)"™" 3 gereor §, gwk wd TR a1 e wa Y 76t & oriet & argura
WHEE,@@n=___ Bl

1.5
2.4
3.3

4.6

Correct Answer :-

43) The first term of an Arithmetic progression is 3. If the sum of its first 4 terms is 14 less than
the sum of its 61" and 7™ terms, then the 51 term is . /WW arrﬁgw DI E'I'UFI' U3 %I
gfe $HS UYH 4 U1 BT INT, TP BS T4 Hidd gl & I H 14 $H g, a9 AP 50 Ug

gl

1. 16

2. 18



3.23

4. 19

Correct Answer :-

« 19

44)
Ifq, .’1 ¢ are mutually perpendicular vectors each of magnimde 2, ﬂlv:n—lq | a+b+ HE sl
W
U &b, ¢ WER cidad ey & T Yl T GRATT 2 &, al = |d+b+ €| =
W
&l

2. 3*\'{2
3. \"E

4. V6

Correct Answer :-

45)
. o T L i -4 3
In‘.ersean=| . 4]15 .J"A—[ . 4] &l oA %I

3

1.



U=

[

Correct Answer :-

. 5

47) If the sum of first 'n' terms of an arithmetic progression is given by s,, = 2n? + 5n, then the nth

term of the A.P.is___./dfe U AR ARG & UgH n’ UGI BT AT s, = 2n® + 5n fSAT AT B,
A TR ARET S oV ug 2l

1.4n+3
2.2n-1
3.6n-7

4, 3n+2

Correct Answer :-

e 4n+3

48) If two regression coefficients are 0.8 and 0.2, then the value of coefficient of correlation is

/af& 0.8 TG 0.2 S THTHAT OIS €, T9 TGS Y--TUND BT AT gl
1.0.8
2.0.6
3.04
4. 0.2

Correct Answer :-



The ratio of areas of two squares A and B are 4:25. If the side of the square A is 6m, what is the
measure of the side of square B? /&l Gt A UG B & & &1 STUTd 4: 25 g1 afe @il A &t HvIT 6
Hiex g d@t @it B & Yo &t AU T 32

1. 256m /256 IiIE?
2. 15m/ 15 HIex
3.12m/ 12 I“EQ

4,32 m? /32 97 Hiex

Correct Answer :-

e 15m/ 15 HieR

50) Two isosceles triangles have equal vertical angles and if their areas are in the ratio 36 : 49, then

the ratio of their corresponding medians is k| W%ETE ﬁ"ﬁﬁﬁ & |9 HIUT (aﬁfw W)
gﬂﬂ%aﬁvuﬁmmssm%mﬁﬁaﬁmwmaﬁmm
|

1.4:7
2.6:1
3.6:7

4.7 :4

Correct Answer :-



